5
o
38 ]
o Q Q
2. 1a |3~ =
SR NI
~ < el .
¥ |8 & I+ [R S %‘1
NN
~ 8] 5 RS ENE
&8 13858
3 s (3|8 (& |9
3 |8 <
L ?
o
3
S
T N, TSI T 000
:
A% 1
N i
(= ' el
< i ‘é’ >
11 o € 000
o S y
o =3
' =
B i L — — 000
N H T
g’@,ﬁ - B9 Poczqtek robot km 0:000 000
8 Bil
o
p00 —
A .
Q
2
5000 . 574 § — s
g
S 5
70 AP o]
o
&
S
Q
$ - e B Ny 7 |
|
B b \pommeg f——
- 3
S @ .
S
paog 177757 ————— 000 ...
00 - _wjazd - str. pr_jim 0A% 1217629 @22
7 wiazd -str |_km (1167 rz 17615
18700 5
+ s —
7 :
2300 229 | Y
CoEm [ 378
o | (B B
] =] 174
A 17568 043
ko
o 8 175,73775,@} 026
. fggoo wjazd - sir. pr._km 04293 rz17586
03
5 oo . . .@_T
00— - Wiz =St prhr 3 i
by
25,001’% ~ _Z_W(H_an 277559 @30
B700| 0
5000 933
/00 | S 027
6200 S ’ 77595 wjazd- strl_km 04382 rz.17568
Eg@ wjazd-strl. km 0:3% rz.17587
75¢ w/azda-sirl. 4
f-}r\ 77504%53 013
H
2650 2500 < N wjazd-strl_km 0f426507rzL75/67 010
" bsoo “’g A Koniec _robot km 0435 o5




